MIAM I-DADE’ MIAMI-DADE COUNTY, FLORIDA
| METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Therma-Tru Corp.
1687 Woodlands Drive
Maumee, OH 43537

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by

the Authority Having Jurisdiction (AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.
DESCRIPTION: Series “Classic Craft” 8°0 Glazed Outswing Fiberglass Doors

APPROVAL DOCUMENT: Drawing No. S-2177, titled «(assic Craft % Oval” Single & Double Outswing
8°0 Fiberglass Door”, sheets 1 through 8, dated 11/7/01 with revision #1 dated 2/6/03, prepared by RW Building
Consultants, Inc., bearing the Miami-Dade County Product Control Approval stamp with the Notice of Acceptance
number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 as well as approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No 01-1219.01

Expiration Date: April 03, 2008
Approval Date: April 03, 2003
Page 1




Therma-Tru Corporation

NOTICE OF ACCEPTANCE: _ EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No S-2177, titled «wClagsic Craft % Oval” Single & Double Outswing
80 Fiberglass Door”, sheets 1 through 8, dated 11/7/01 with revision #1 dated
2/6/03, prepared by RW Building Consultants, Inc.

B. TESTS
1. Test reports on 1) Air Infiltration Test, per SFBC, PA 202-94
2) Uniform Static Air Pressure Test, Loading per SFBC PA 202-94
3) Water Resistance Test, per SFBC, PA 202-94
4) Forced Entry Test, per SFBC 3603.2 (b) and PA 202-94
along with marked-up drawings and installation diagram of a outswing and
inswing fiberglass glazed outswing door, prepared by ETC Laboratories, Test
Report No. ETC-01-741-11198.0, dated 10/04/01, signed and sealed by Wendell
Haney, P.E. Addendum letter dated March 8, 2003 also signed and sealed by
Wendell Haney, P.E.
2. Test reports on 1) Air Infiltration Test, per SFBC, PA 202-94
2) Uniform Static Air Pressure Test, Loading per SFBC PA 202-94
3) Water Resistance Test, per SFBC, PA 202-94
4) Forced Entry Test, per SFBC 3603.2 (b) and PA 202-94
along with marked-up drawings and installation diagram of a outswing and
inswing fiberglass glazed door, prepared by ETC Laboratories, Test Report No.
ETC-01-741-11212.0, dated 11/12/01, signed and sealed by Mark D. Passero,
P.E. Addendum letter dated February 22, 2002 also signed and sealed by Mark D.
Passero, P.E.

C. CALCULATIONS
1. Anchor Calculations and structural analysis, prepared by Lyndon Schmidt, P.E.,
dated 12/26/01, signed and sealed by Lyndon Schmidt, P.E.

D. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 01-1120.07 issued to Threma-Tru Corporation for
“Therma-Tru “Fiberglass” Door Skin” dated 1/ 17/02, expiring on 1/18/07.
2. Notice of Acceptance No. 01-1120.08 issued to Threma-Tru Corporation for
“Therma-Tru Series “BTS, TCM, PVC, SMC” Lite Frames” dated 1/18/02,
expiring on 1/18/07.
3. Test report on "20 and 90 min. vertical full scale “Fire Endurance and a Hose

Stream Test for Door Assemblies” per ASTM E-152 for steel door with
polyurethane foam core, prepared by Inchcape Fegtin Services, Wargock
Hershey International, Inc. Test Report No. 6721 d M@

Manuel Perez, P.EQ
Product Control Examiner
NOA No 01-1219.01

Expiration Date: April 03, 2008
Approval Date: April 03, 2003



Therma-Tru Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

E. STATEMENTS
1. Statement letter of conformance and no financial interest, dated 12/14/01, signed
and sealed by Lyndon Schmidt, P.E.
2. Letter stating that Mr. Rick Wright has been contracted to represent the company
as a consultant, dated 9/6/01, signed and sealed by Steven Kepler.

F. OTHER ’
1. Letter for San Martin Associates, Inc.

NOA No 01-1219.01
Expiration Date: April 03, 2008
Approval Date: April 03, 2003



THERMASTRU®

"CLASSIC CRAFT SERIES"
8 OUTSWING GLAZED FIBERGLASS DOOR WITH WOOD FRAME

GENERAL NOTES
. TFggEPRODUCT IS DESIGNED TO COMPLY WITH FLORIDA BUILDING
CODE.

=)

. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO
TRANSFER LOADS TO THE STRUCTURE.

. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS SHOWN

ON DETAILS. ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE

BEYOND WALL DRESSING OR STUCCO.

DESIGNED PRESSURE RATING SEE TABLE PAGE 1.

THIS PRODUCT MEETS THE WATER REQUIREMENTS FOR "HIGH

VELOCITY HURRICAN ZONES” WITH THE USE OF THE HIGH DAM BUMP

THRESHOLD. SEE THE DESIGN PRESSURE CHART BELOW.

THIS SYSTEM REQUIRES WINDBORNE DEBRIS EXTERNAL PROTECTION

AS PRESCRIBED IN SECTION 1621.1 OF THE FLORIDA

BUILDING CODE.

ox W N

o

ﬁ

SIDELITES ARE AN OPTION AND CAN BE USED IN A
SINGLE OR DOUBLE CONFIGURATION.

=

/f RESIDENTIAL INSULATED FIBERGLASS DOOR
Common to all frame conditions

Door & Sidelite Leaf Construction:

ace sheets Door ; Fiberglass skin 0.127” minimum thickness,
SMC) Fy(min.)=6,000 psi

Face sheets Sidelite; Fiberglass skin 0.070" minimum thickness,
SMC) with yield strength Fy(min.)=6,000 psi
re_design: Polyurethane foam core, with1.9 Ibs. density by BASF.

Pane| Construction: The panel skin is constructed from a 0.127" thk. sheet
molding compound (SMC). The interior cavity is filled with 1.9 Ibs. density BASF

gﬁlyurethane foam. The panel face sheets are glued to the wood stiles, and rajs.
e latch and hinge stiles are LVL or LSL. The latch stile which is 1.426" x 4.09

is the latch reinforcement. The top and bottom rail are of a wood composite material,
In the double door application the inactive door is fitted with an extruded aluminum
astragal of 6060-T6 alloy.

Frame Construction: The frame js constructed from finger jointed

pine measuring 4.565" wide x 1.25" thick. The header is joined to the side

jambs with (3?# x 2.5 PFH Screws at each side. The threshold is joined to the

side jambs with (2) #8 x 2.5 PFH Screws at each side. The mullions are secured
together in a sidelite” application using #8 x 2° long PFH Wood Screws (6) screws per
each mullion. The units use an Outswing Bump threshold measuring 4.615" x .837"
Door Glazing: SMC Lip Lite — OA size is 21.656" wide x 58.093" secured

w7§15) #6 x 1.5" Long Tek Screws. The frames are sealed with silicone

caulking (Dow 795) to sidelite panel and to the glass.

Sidelite Glazing: SMC Lip Lite with yield strength Fy(min.)=6,200 psi & PVC Lip Lite
with yield strength F%(min.)=2,145 psi — OA size is 9.85" wide x 65.85" high secured
w/(16) #8 x 1.75" Phillips Pan Head Screws. The frames are sealed with silicone
cautking (Dow 795) to sidelite panel and to the glass. Integral Flush Glazed — The

sidelite sash face panels are molded to receive the insulated Glass. The glass is
Cttached to the sidelite face sheets with silicone glazing compound (Dow 795).

37.5" MAX.

 35.75" MAX.
PANEqL WIDTH

™~ OVERALL WIDTH |

.

74
74

14.869”
MAX

D.L.O.
WIDTH

7

55.619” MAX. D.L.O. HEIGHT

96.5" MAX. OVERALL FRAME HEIGHT

%
ﬁ\

y,

95" MAX. DOOR PANEL HEIGHT

&

SINGLE OUTSWING UNIT @
l<—74.5” MAX. OVERALL FRAME WIDTH——I

DOUBLE W/SIDELITES OUTSWIN.E UNIT

ALL ELEVATIONS
VIEWED FROM

~———————105.5" MAX. OVERALL FRAME WIDTH
36.625" MAX. .
PANEL WIDTH —— FRAME WIDTH
W,/ASTRAGAL > .
13.938" MAX.
SIDELITE WIDTH
wh Y] 9
= ' y = 7.125" MAX. D.L.O.
o 4 211 WIDTH LIP LITE
35 & 7.0" MAX D.LO.
S Y : #|| |WIDTH INTERGRAL LITE
E3 / 3
~J
I~
&0 ' Al [t
o g
I ., &
.Q o)
O T~
- a o
Q. ['s]
<
£ |la £
2
00 | | | | =
M R Y VI [N/
S ' 4
o B | || |
SEE DETAL A" __
SHEET 3 i

[=-68.5" MAX. OVERALL FRAME WIDTH~ 155" yax.

96.5" MAX. OVERALL FRAME HEIGHT
NS

INACTIVE

\4

SEE DETAIL “A”

SHEET 3 N’@ i

I

=
.0. HEIGHT

THE INTERIOR

L

=
0. HEIGHT

MAX. D.L.

(0]
<
§
55.619"

FRAME WIDTH
13.938" MAX.

)

"u:"" W
-
.=
=3
Sa A
K =
| =
o s
5 o)
< ST W
- gL
. T .
o . O
5 o
. -0
M) a ©
0 > %ﬂ
x<
JAY $£=
N 4/ 5
23 AN
m RV
o
of ¥

SIDELITE WIDTH

7.125" MAX. D.L.O.
WIDTH LIP LITE
7.0" MAX D.L.O.

WIDTH INTERGRAL LITE

SEE DETAIL "A” |
SHEET 3

&

@_

(3
v
14
%_

MAUMEE, OHIO
PH. (800) 537-8827

THERMA-TRU CORPORATION
1687 WOODLANDS DRIVE

OVAL”

/4

SINGLE & DOUBLE OUTSWING

GENERAL NOTES

8’0 FIBERGLASS DOOR
ELEVATIONS AND

PART OR ASSEMBLY:

CLASSIC CRAFT 3

PRODUCT:

BY

GENERAL REVISION |TJH

REVISIONS

2/6/03

NOJ DATE

1

j aWBUILDING

CONSULTANTS, INC]
813.659.9197

TABLE OF CONTENTS TSW Ng UNIT @ SINGLE. W/SIDELITES OL[TSWFE; UNIT
SHEF # TESTED ELEVATION, ngfg,m?NUNﬁ DESIGN PRESSURE RATING (WHERE WATER INFILTRATION REQUIREMENT IS NEEDED, W/HIGH DAM THRESHOLD)
% ﬁ;‘%ﬁiﬁsingggoggcm,qs UNIT TYPE WITH OUT SURFACE BOLTS WITH SURFACE BOLTS
& [ANCHORIG LOGATON & DEmLS ~— > = SINGLE ror0pse -s0ps )
6 ANCHORING LOCATION DOUBLE + 47.0 PSF — 47.0 PSF + 85.0 PSF - B85.0 PSF
Z gﬁ‘f 8? MJAQFEEN_SS & GLAZING DETAIL S’%%f gfogﬁ%ssw + 47.0 PSF - 47.0 PSF + 65.0 PSF - 65.0 PSF

Approved as complying with the
Florida Buiding C

Date

NOA# -

AL )

oaTE: 11/7/01

SCALE: NTS

DWwG. BY: WLN

CHK. B: RW

DRAWING NO.:
S-2177

sheer _1 oF 8




1.15" MiIN.
EMB.

o
=

EMB.

. - Na

1.15" MIN.

bt

A 1" MIN. __| [
GLASS THK.

, - . INTERIOR A LXTERIOR
@ ' ,_

1687 WOODLANDS DRIVE
MAUMEE, OHIO
PH. (800) 537-8827

THERMA-TRU CORPORATION

!
| ] L {:9 SEE NOTE 3
.8 / 3 - 2 IS SHEET ‘
g 1| % ) ¥ SEE NOTE 2 168" MIN. -
o @ THIS SHEET :
267 g 1 PANEL THK. ~[5:... ﬂ
0= : Vi .
= =z Zx q
V% §2 . Sz g . :
B 0 . @ 1.68" MIN. 2 .
o | N 0 07 o ]| PANEL THK. 3
[ o e
5 aa o = q
= G S -
% T ] n] : %
o — W SEE GLAZING T e §§m
T T g DETAILS  — . . .. <) g S
W 2 SHEET 8 S %)
s W r ( ) \% E NE &oa Qa (n
- v 02
E g 3 5 - SUERE
3 <Z( i & : 26 o 9=
3 a > & oelal S S
2 ) (@] 3 UQI&.JJ 2 l-(;,!
3 3 o QR E
© g g % o 2 I
R INTERIOR  (29) % : 3 Q|G|
i 9 A ; OUTSWING DOOR PANEL W/ HIGH DAM THRESHOLD |3|32 5
(s} N 3 =
1.68" MIN. i © o (THIS THRESHOLD MEETS WATER REQUIREMENTS) €7 |2
PANEL THK. ' x|>-
2jm
x4
87
Z .
Sg SEE NOTE 3 =
. 0 19 THIS SHEET S
n =
3 2
~ SEE NOTE 1 NOTES: A e ln
s st THIS SHEET 1. THE SIDELITE IS DIRECT SET INTO THE JAMB WITH (12) 5
PR #8 x 2" PFH. WOOD SCREW. THERE ARE (4) AT é n
S e EACH VERTICAL JAMB, FROM THE TOP DOWN AT 13.5", g 1S
31" 48.5" 66" THERE ARE (2) AT THE HEADER AT 4" IN | |
. FROM THE OUTSIDE CORNERS OF THE FRAME. THERE ARE
4L (2) AT THE SILL, 4" IN FROM THE OUTSIDE CORNERS.
: 2. THE HIGH DAM THRESHOLD IS MANDATORY WHERE WATER bl
REQUIREMENT IS NEEDED. EE
3. THE SASH WAS STOPPED IN WITH A NOMINAL 3/8" QUARTER NS
RTCAL_CROSs _SELToH ROUND MOLDING AROUND PERIMETER. THE COVE MOLDING N
OUTSWING DOOR PANEL THE CROSS SECTION IS ’ WAS SECURED USING 17 x 0.04: DIA. WIRE BRADS AT 2" ‘__g
WITH LOW PROFILE THRESHOLD SHOWN W/THE "CLASSIC FROM EACH END A MAX. OF 127 O.C.
(THIS THRESHOLD NOT FOR USE CRAFT® FLUSH GLAZED & 3/4” GLASS
WHERE WATER REQUIREMENT IS NEEDED) : v v Wauummo
CONSULTANTS, INC
B13.659.9197
oaTE: 11/7/01
Approved as complying with the | NTS
Florida Buiding Cogle OWG. BY: WLN
Date )3
NOA# - CHK. BY: RW
DRAWING NO.:
S—-2177
SHEET _2 oF _8




®

1”7 MIN.
GLASS THK.
ﬁ

1

'_-V‘_

v

EXTERIOR

<
* S>
N S jé.',: - :: AN
ASTRAGAL RETAINER ™ 0.0 @ T & X
BOLT 8.0” LG. TOP @ N~ Ty Q9 O n< |
& BOTTOM (2) BOLTS i 0.7 By Lol
2¥ AT TOP & (2) AT BOTTOM Z¥ f % Z°m
S~ SF X .  INTERIOR SN, -0
< . Z & Z3 i
LE: © E @3 =, @) =2 2030
e & -3 B ER5Q
| INACTIVE o SEENOTE 3 =% <=8
"o - ' =T | SEE NOTE THIS SHEET ==
0N W 1 & 2 H:_loo =
"o oo = THIS SHEET TO
-7~'o%~"$' 4 DETAIL_"A" =
' ’ f OPTIONAL ADDITION OF SURFACE BOLT'
G‘)/ o
S5,
ST
: 59 =
N S
~ - =
Mgl £ O
J = W
th fas] &) [9p)
&(8% g N ¢,
1\ HORIZONTAL CROSS SECTION St | g
\3/ @ ASTRAGAL oRne ER
=15 o ©
Slawolo
. a|foo]
= X 8 L= 5(:
£z A P
” R
25" MAX. SHIM (28) o S
15" MIN. EXTERIOR (48) o %
— = c_sink o
_ EXTERIOR | =
¥ ] S
$E ! L] ¥=.02 6% ¥ 7
12)3, @ <>:$;: 7 0 Y= SF &l 1
©=Z ! .o on = o prad
- im0 "o o W F o
Qo ’ = N = ” (=4 < =
. f ~g i 2]
INTERIOR ¥ 2 >
P _og | ZF 3| |
o Q b=
N\ L 3
o S f © ‘A8 2w
o 9z
Z . © 2\ HORIZONTAL CRQSS SECTION o NE
36) Y6 N3 \3/ @ MULLION 2, S
© = - -
SYSEE NoTE 4 E 15" MIN. _| EEE m z
9SHLA gy > C—SINK SEE NOTE WO F R
9 SHT.4 7] (Wsumomc
CONSULTANTS, INC
INTERIOR 813.659.9197
3™\ HORIZONTAL CROSS SECTION
\3_/ @ SIDELITE TO BUCK NOTES: oatE: 11/7/14
1. THE SURFACE BOLTS ARE AN OPTION ON THE ACTIVE DOOR TO ACHIEVE A soE NTS
HIGH PRESSURE RATING. Approved as complying with the
2. THE SURFACE BOLT STRIKE ARE LOCATED AT THE TOP AND BOTTOM Fiorida Buiding Cge " owe. Bv: WLN
OF THE ACTIVE PANEL AT 2.5” CENTERLINE FROM THE LATCH STILE EDGE. Date o RW
THE STRIKES FOR EACH BOLT WERE ATTACHED TO THE JAMB AND THRESHOLD NOAE - BY:
WITH ﬁ% X‘!8 x 2.5" PFH WS. Mia; DRAWING NO.:
3. THE SURFACE BOLTS WERE ATTACHED TO THE ACTIVE PANEL Dig S_p177
WITH (4) 10—24 SEX BOLTS. By
SHEET _3 oF _8




25" MAX. __,
SHIM SPACE

1.68 MIN.
PANEL THK.

. !
?‘%( 17 \Q

<
4

1" MIN
GLASS THK.

17\ HORIZONTAL CROSS SECTION

@ i

9. 1.15” MIN.
" EMBED.

. THE SIDELITE SASH FACE PANELS ARE MOLDED TO RECEIVE
THE INSULATED GLASS. THE GLASS IS ATTACHED TO THE
SIDELITE FACE SHEETS WITH SILICONE GLAZING COMPOUND
(DOW 795).

. SPACING FOR #8 x 1" PANHEAD SCREW

ATTACHING THE ASTRAGAL TO THE INACTIVE DOOR IS AS

FOLLOWS: FROM THE TOP DOWN 1", 3” 5" 18.25",

54.0", 77.0” 90.25”, 92.25", & 94.25”.

. THE HEAD JAMB IS ATTACHED TO THE SIDE JAMBS WITH

(3) #8 x 2.5" PFH WOOD SCREWS AT BOTH SIDE.

. THE THRESHOLD IS ATTACHED TO THE SIDE JAMBS WITH

(2) #8 x 2.5 PFH WOOD SCREWS AT BOTH SIDE.

. THE SIDELITE IS DIRECT SET INTO THE JAMB WITH (12)

#8 x 2” PFH. WOOD SCREW. THERE ARE (6) AT

EACH VERTICAL JAMB, FROM THE TOP DOWN AT 6.0,

23.0", 40.0", 57.0", 74.0" & 90.5”. THERE ARE (2) AT

THE HEADER AT 4” IN FROM THE OUTSIDE CORNERS OF

THE FRAME. THERE ARE (2) AT THE SILL, 4" IN FROM

THE OUTSIDE CORNERS.

. SPACING FOR #8 x 2" SCREW SECURING

THE MULLIONS TOGETHER IS THE SAME AS THE PERIMETER

ANCHORING SCREWS. 6” DOWN FROM THE TOP AND UP

FROM THE BOTTOM WITH (4) MORE SPACED AT 17" O.C.

. WHEN ATTACHING THE HINGE TO THE JAMB AND THE BUCK

USE A #10 x 1 3/4” SCREW. WHEN ATTACHING

THE HINGE TO THE JAMB AND THE SIDELITE AT THE

MULLION USE #10 x 1 3/4” SCREW.

. THE HIGH DAM THRESHOLD IS ONLY USED IN AN

APPLICATION WHERE A HIGHER WATER PRESSURE MUST BE

ACHIEVED (SEE DESIGN PRESSURE CHART).

. THE SASH WAS STOPPED IN WITH A NOMINAL 3/8" QUARTER
ROUND MOLDING AROUND PERIMETER. THE COVE MOLDING

WAS SECURED USING 1” x 0.04” DIA. WIRE BRADS AT 2"

FROM EACH END A MAX. OF 12” O.C.

15" MIN. 4
C—SINK %

NOTES:

LATCH JAMB TO BUCK,

SEE NOTE 1

SHT.4

4

SEE NOTE
5 SHT. 4

©

&/

SEE NOTE
SHT. 5

/\/

P

SEE GLAZING
DETAILS
(SHEET 8)

1.68” MIN.

PANEL THK.

Z
» o=
L -25” MAX. =N
SHIM SPACE < = N
o
O (@S]
9 SEE NOTE | § DF |
(10) 7S 4 | T 2SN
(49 QT 13
O Ju§
‘ D QW ~
| : xQO=0
A QO30
. - SN
ﬁ{: L e . = ,\E .
o O ...O .: - E m I
f = - TO Qa
\ o =
X . ./ 1 .
Ze 2¥ (19
fas o A 5o
© ©Z e [ oLyl wvn
-8 : 59 4d
T {0 xQ
Y MY, D) o<
A Wl
o Calag I
- A5 MIN. {1 S S3E| Buw
2™\ HORIZONTAL CROSS_ SECTION O—SINK o S 83
EMBED. S|Qwolo| 24
elNo vk
%535 &
I
Sl
=
v Q
g 0
£E v <
= T &
® g = %
ez %) 2 |Z
-—35 : V% Q
-3 Wl @
S ( ) ; © & @
! \ .'0.7 0. .- ‘ © e
e =
.9 L {
°_ e = I N
) T N
O e @ aE
(3 HORIZONTAL CROSS_SECTION ﬂwwwm
\4_/ @ STRIKE JAMB TO SIDELITE CONSULTANTS, ING
813.659.9197
baTE: 11/7/01
@ Ap " SCALE: NTS
prove i :
@ SEE NOTE 6 Florida Byiding G B "M the [ 5. WLN
SHT. 4 Date CHK. BY: RW

NOA# -

Miami Dade Produet
Digisio y
By

DRAWING NO.:
S-2177

SHEET 4 oF 8

g



SEE DETAIL "F”

/_SHEET 5
== i3] 1 =]
| | = : U : = | !
6))__> | ] 6” — _-—6”
‘3"——_ . ] 311 el -‘-_3”

.
s -

TYP TYP.
SEE NOTE SEE DETAIL SEE DETAIL
3 SHT 5 8 "F” . // "E" TYP. N
.\/ /L
b q 2
— 19 _ N N
[
I
N
o || i IS a
TYP. SEE DETAIL @ %
"L TYP. Q
«@j=” S (i e
@_\ _ A /F @ I 3 /‘@ A" —
N L I 1 T 1 11 L1 I/ "B

] o
® /F | '\1( N Eh P T

f

s s ﬁ
s F

SEE DETAIL
"H” SHT. 5

P
2 g" Ft:—l f— 3~ o

‘—6” _-_‘ "—‘6"

DOUBLE DOOR W/SIDELITES

DETAIL_'E” DETAIL

] DRILL THRU FOR
A .357" BOLT DEEP

C ENOUGH FOR A 2"

BOLT THROW

@n__—_|@r

SURFACE BOLT
STRIKE PLATE
DETAIL F
ASTRAGAL STRIKE PLATE

G” & OPTIONAL SURFACE
BOLT STRIKE PLATE

[

SURFACE BOLT
STRIKE PLATE

DETAIL "H”

RETAINER BOLT HOLES
& OPTIONAL SURFACE
BOLT STRIKE PLATE

17" TYP.
5PLCS
/ AN
x|
@
i

USE ITEM #13 A #8 x 2 1/2" PFH WOOD SCREW TO

o ol l—gr g o
4 7 nE
|
- 1 @ H—
a ., I N () —
=3 = Q TYP. CH
EA N AR
N0 N0 —_ = 2
- = 0
9 |
_ )| \see perar/
T Eg —= = "C” TYP. "I
€ - -
AP 0
s T, _ _ Q
o SEE A A = 5l —
DETAIL ' - :
. __L "D” . _L_ — / @\ —
1 |
o -T-!
f ! T s ter ] =]
© ©
—
SINGLE DOOR
NOTE:

ATTACH THE STRIKE AND DEADBOLT PLATES TO THE
JAMB OR ASTRAGAL EXCEPT IN THE MULLED

APPLICATION WITH THE SIDELITE USE ITEM #43 A #8 x

Z 1
Q>
~ o~
T2
O(/)QO?
CLQII\
S50
Oim“m
D 8w~
rQs=0
FODO
<=g®
N
= 3
Y E‘i
I
l‘ﬁ
: 2
§§n: 2
OI-U-)S IS
QLSQ =
N Sn
ke O
) I<C
L2308 ok
Iogal 84
Eauol =
i
5953"'*051
2|8WelC 2
05(3“0'0—:<
E|oZ |&
LT
T
Sl
=z
o
%)
o
& N
3B
o @
=l
ol
s
N
LS
N
o
=

CONSULTANTS, INC

2” PFH WOOD SCREW. 813.659.9197
oate: 11/7/01
plylng with the SCALE:  N.T.S.

Approved ss comnlying with ¢
Florida Beiding Code ows. B:  WLN
Date 4 CHK. BY: RW
NOA# -
Miami Dade Produst DRAWING NO.:
Digist S—-2177

By

SHEET 5 ofF 8



SEE DETAIL

"K” SHT. 6 ‘L

= off \ 1T s

| | Qﬁ"?"p’ > | I[ l%
6 ” —— S — I 6 2”
3 » — et L] - 3 ”

T

f

rohlE S
THTT 1
7“@ - 13 "B@—

i_‘_j”
SEE DETAIL
’/ nEu TYP,

TYP.
TYP. Yp.
SEE NOTE
3 SHT. 5 | _ _ N
; @ L]
4 Cb
i == 3 [
I ™ | = o
el e TYP.
0 — p— —
SEE @__\ S Tl M
DETAIL — K" @ o
nDn | — — L_____» _
;i N LU TYP. ] ||
sA P HEZ S A
6" 6”
37— |- 1= |3
6" —| |— — -5
SEE DETAIL
"J” SHT. 6

—— —

DOUBLE DQOR W/SIDELITES

SURFACE BOLT
STRIKE PLATE

DETAIL K

OPTIONAL SURFACE
BOLT STRIKE PLATE

b
e
N —
&) 3
I .

E

-t 3

I
bty ”M"_“E

N

@] O
SURFACE BOLT
STRIKE PLATE

DETAIL "J”

OPTIONAL SURFACE
BOLT STRIKE PLATE

SEE DETAIL F”
/ SHEET 5
f fead ) !
= AN 1
6" — . 6” 6»
3" — 371 317
5" 1
P 37 1 ¢
1 TN 1 1
' 1o )
TYP.
SEE NOTE SEE DETAIL
3 SHT. 5 "
G
‘E =
SEE DETAIL
”H”
E |
| a— ”A" . -
@ /ﬁ[l @ AL
I3 e, vy s TYP-' 1
li 3" : (F
6";l !
37— — 3" - 3"
6” ] ] 6” — 6”
SEE DETAIL
"H” SHT. 5

DOUBLE DOOR

SEE DETAIL

/ ETYR N

4
A —]
=T

Z 1
Q> L~
=~
TO_
o0
Ou2 |
o5
ZOM
03 0
O Jj
DQLL.I/\
T O=O
I—-ODO
<=T®
== _
Lo =
TO Q
=
. O
3G 2
=35 S)
+30 =
<C
kl.u"’ Q
Walsy O
FoE
<(302 (@]
e 1
SeWh =
=<
gle9Hy R
8&7&100 (Z)
SIS I S
EoZ |&
LY}
X
S&
=z
9
2
o
[he
4 2
& 19
4 @
Y@
3
S
<€
N
o
=

ﬂWBUILDING

CONSULTANTS, INC
813.659.9197

Approved as complying with the
Florida u'%g C

Date

NOA#

L0

oate: 11/7/01

SCALE:  N.T.S.

owe. BY:  WILN

CHK. BY: RW

DRAWING NO.:

S-2177

SHEET 6 oF 8




™ RETAINER : i % L
BOLTS . Q>
o o o
S ‘ T "o
- O wn= |
: o L ~
o . aC O
~ [v's) Z M
< © Q
i 0 ol - S I
- N n o~ Q
DADD WOOD FRAME 0 E S “2'] )
O . -~ O 59
-/ W, F 220
\ » < <£ N
Ll 4.625 =
AILL THROUGH FOR DRILL THROUGH FOR : % ~
DRILL TH .357" DIA. ASTRAGAL . ] :
097" —] | @ 4 x 4 STEEL DOOR HINGE A 48 PFH WOOD RETAINER BOLTS 2.203 m % DI_
: SCREW 2 PLCS ‘ I‘l:‘ —
HINDIAY WROST STRIKE PLAT ‘ WINDJAMBER 1I_WR68T J——,///g‘
OAK CAP ° \\ﬂ—L 2
2N B T T A =
i : s " : enE
e qJZI EFL i 2116 2 s 5O 2
& S L ' [P . (1) ourswiNG BuMP FaC ” ¥Oa Z
< AU R I -— 1.202 ALUMINUM/WOOD THRESHOLD AR 171 PR
] N ‘ ' .050" WALL TYP. L—gé n—zn' <
<o
-~ L£C_BOTTOM RAIL L£C TOP_ RAIL » aZey | ol Q
(59 WooD CoMPoTTE WOOD COMPOSITE ‘. 4.563 5ol 3 2
z 2.36” O ID =
! 1,46" [*)) " "[\') - (7-)'<Z( o =
- f=—1.077" — - ol olc >
CC_HINGE SIDE STILE : T a|gWwo|_
CORE MATERIAL: LVL OR LSL : 2|03 |g
ALTERNATE CORE MATERIAL: PONDEROSA, g — £ 2 |&
RADIATA, PULAI, ELLIOTTI, TAEDA OR SUGAR i 1" — 4
PINE, DOUGLAS OR WHITE FIR, CEDAR, INCENSE » , L=
CEDAR OR REDWOOD. DEPr— . MOLDED OPEN LITE SMC FRAM 1.878 046 5%
' EXTRUDED SMC N
" (o) SIDELITE BLANK SIDE STIL | -
40" RED 4.09” FINGER JOINTED PONDEROSA PINE - 3
OAK CAP al ) 8
. -592° . T al |,
»” 1
& 3 o7 ' . IGH DAM THR 4 15
: * . — .579 s &
()] - -
e : P 8 5 : | & 1
- 3 I 8.0 o
» Lp]
T . b 1.531" ——] l ‘ l i -
SID TOP_& BOTTOM RAI ” Olw
FIRGER JONTED SONDLAGS A FINE -—J 179" 175 { é¢ ) QL}
CC_LATCH SIDE STILE o
CORE MATERIAL LVL OR LSL LONG_REACH @ OMPRESSION WEATHERSTRIP _
COMPRESSION WEATHERSTRIP BY THERMA—TRU ASTRAGAL RETAINER BOLT 15
) FOAM CELL CORE FOAM CELL CORE W/VINYL JACKET MATERIAL: C,/R ROD ZINC =
8 W/VINYL JACK & YELLOW CHROMATE
75" — %
" » WEUILDING
2.875 CONSULTANTS, INC
@ @ 813.659.9197
T
@ @ o oaE: 11/7/01
Y N o e 25 NTS
. Py Approved as complying with the )
N 2 Flosida Buiding Co Dwe. Bv: WLN
FEAN SURFACE BOLT STRIKE (.125" STEEL CHK. BY: RW
" ATTACH TO SILL USING #10 x 1 1/4" DRAWING NO.:
SURFACE_BOLT (IVES. .25" STEEL) F.H. SHEET METAL SCREWS PROVIDED S—2177
ATTACH TO DOOR USING #10 x 1 1/4" WITH BOLT.
F.H. SHEET METAL SCREWS PROVIDED
WITH BOLT. SHEET 7 OF 8




ltem DESCRIPTION Material
1| CLASSIC_CRAFT_DOOR SKIN 095 MIN._THK. FIBERGLASS FIBERGLASS
BY THERMA TRU with vield strength Fy(min.) = 6,000 psi

2_ICC TOP RAIL (1.50” x .94" THERMA—TRU WOOD COMPOSITE) W00D COMPOSITE
S _ICC [ATCH STILE/LOCK BLOCK (THERMA—TRU, LVL OR LSL & OAK 1.50" x 4.125") LVL OR LSL/OAK
4 _|CC HINGE STILE (THERMA-TRU, LVL OR LSL & O0AK 1.50" x 1.457") LVL OR LSI/0AK
5 {NOT USED

6 | POLYURETHANE FOAM (BASF, 1.9lbs. DENSITY) FOAM

7 | SHORT REACH COMPRESSION WEATHERSTRIP (THERMA—-TRU) FOAM

8 |LONG REACH COMPRESSION WEATHERSTRIP (THERMA-TRU) FOAM

9 14" x 47 HINGE .097” THK. (THERMA—TRU) STEEL

10 _|#10 x 3/4" Ig. PFH WOOD SCREW (Hinge to Frame) STEEL

11 |#10 x 17 LG. PFH WOOD SCREW STEEL

12 1#8 x 2" LG. PFH WOOD SCREW STEEL
13 |#8 x 2 1/2” LG. PFH WOOD SCREW STEEL

14 |NOT USED

15 |NOT USED wOooD

16 | 2x INNER WOOD TEST BUCK WoQoD

17 | MAX. 1/4” SHIM MATERIAL WwOoQD

18 |KWIKSET TITAN 700 SERIES PASSAGE LOCK -

19 |ONE PIECE BUMP_FACE THRESHOLD (THERMA—TRU) ALUM./WOOD
20 | HEADER 4.656” x 1.211” (THERMA—TRU, PONDEROSA PINE) WwooD

21 [NOT USED

22 |HINGE JAMB 4.656" x 1.211" (THERMA—TRU, PONDEROSA PINE) WwoOoD

23 |KWIKSET TITAN 700 SERIES DEADBOLT -

24 | ASTRAGAL WINDJAMBER Il WR68T (.052" WALL) ALUM. 6060-T6
25 |GLAZING, 1/2” INSULATED TEMPERED GLASS GLASS
26 INOT USED -

27 |#8 x 1”7 LG. PANHEAD SHEET METAL SCREW STEEL
28 | MOLDED OPEN LITE FRAME EXTRUDED SMC with the yield strength Fy(min)=6,200 psi SMC

29 |K40 x 1.50" PT THREAD SCREW, MAJOR DIA. 4.0MM (FOR ITEM #28) STEEL

30 {NOT USED

31 [NOT USED

32 11/8 THK. CELLULAR GLAZING TAPE (STIK—II TAPE) —

33 |1° X .04” DIA WIRE BRADS STEEL
34 |3/8" QUARTER ROUND MOLDING WwooD

35 |BLANK JAMB 4.656" x 1.211" (THERMA—-TRU, PONDEROSA PINE) WOOoD

36 |SIDELITE SIDE STILE (THERMA-TRU, 1.531” x .656° PONDEROSA PINE) WOO0D

37 1#10 x 1 3/4” LG. PFH WOOD SCREW STEEL
38 | NOT USED ' '

39 | HIGH WATER DAM THRESHOLD ALUM.

40 [SILICONE CAULK SILICONE
41 | NOT USED

42 | SIDELITE TOP & BOTTOM RAIL (THERMA-TRU, 1.531” x .656” PONDEROSA PINE) WwoQD

43 |#8 x 2" LG. PFH WOOD SCREW STEEL
44 13/16” SEX BOLT STEEL
45 | IVES 454 8” SURFACE BOLT STEEL
46 | NOT USED TCM
47 | NOT USED STEEL
48 |GLAZING, 1" INSULATED TEMPERED GLASS GLASS
49 |GLAZING, 3/4" INSULATED TEMPERED GLASS GLASS
50 |CC BOTTOM RAIL (1.50" x .94” THERMA—TRU WOOD COMPOSITE) W00D COMPOSITE
51 |3/16” TAPCON ANCHORING (ELCO, 1.75  MIN. LG.) STEEL
52 13/16" TAPCON ANCHORING (ELCO, 2.5 MIN. LG.) STEEL
53 |10—-24 SEX BOLT STEEL
54 |PLASTIC LIP LITE FRAME PVC with a yield stregth Fy(min)=2,145 psi PvC

453" GLASS

BITE
EXTERIOR |
L0 g+ 0 o
47“0'.”00

INTERIOR b \@

1.68" MIN

PANEL THK

0.5" GLASS BITE

~——1.68" —~]
o
o

1/2” STEEL INTERCEPT SPACER

3/4"" INSULATED TEMPERED GLAS

GLASS

1" MIN
GLASS THK.

™.

1/4” AR
SPACE

A

\ GLASS

GLASS
1” INSULATED TEMPERED GLASS
GLAZING DETAIL_SHOWN W/

"CLASSIC_CRAFT” SMC LITE FRAME
(REQUIRED FOR DOOR PANELS)

1/8" TEMPERED

( 2
™\__1/8" DECORATIVE

1/4” AR
3/4” STEEL SPACE
INTERCEPT 1/8" TEMPERED

453" GLASS __, __ X
BITE £
93]
2 0
33 @0 3
EXTERIOR © 1/8” ANNEALED
Ly GLASS
S 7 Y 2 - 4 e L, 25" AR
0. 500 IS S SPACE

SEE NOTE 1
SHT. 4

5" INSULATED GLASS W/

- h -
0 o gﬂ-"-& : \Qfg \_
INTERIOR -
.25” STEEL INTERCEPT
g SPACER

PVC LITE FRAME GLAZING DETAIL

(SIDELITES ONLY)

.0625" THICK DOW 795
GLAZING COMPOUND

1/8” TEMPERED
1~ GLASS

~—<s——1/2" AR SPACE

1/8” TEMPERED
GLASS

E——

1/8" ANNEALED
GLASS

< Ly
oSS
~ o~
T
O(,-)QOO
ELQIIL
fIsz
Oin'ﬂ
O ]
D%Lu/—\
Ts=3
I-u—gbm
< <§(\/
N
To I
T Q
}-\\
2 O
u=
=
SO n
NG
My, ol &
e
<:DDD(3§<(D
SSE(H -2
mfa 5
e L
S|fwolEl =
ooz |E
a|l 9 a
T
&
=
S
2
5]
&)
%)
-
& @
o o
A
=
e
RE
—o
=

5 aWBUILDING

CONSULTANTS, INC
813.658.9197

D 3/4” MIN.
GLASS THK.

GLAZING DETAIL SHOWN W/

"CLASSIC CRAFT” INTEGRAL GLAZING

(SIDELITES ONLY)

Approved as complying with the
Fiorida Buiding Cade

Date

L

NOA# )=

Miami Dade Product
Dixision
By_[L

pd

oate: 11/7/01

SCALE: NTS

owe. BY: WLN

CHK, BY: RW

DRAWING NO.:
S=2177

SHEET 8§ ofF 8

L



